4

S A |}
A\
/N
)
/avay)\
AYavay,)
[2OOCA

—
<C
>
P
<
=
Z
O
—
@
D
Y
—
0p)
Z




01

__NOTES _//4

You need a helper to finish the installation.

Don't over-tighten the screws until all the parts are in place.
Failure to follow the instructions may cause misalignment of
the screws.

DO NOT let children climb the product.

To avoid suffocation danger, keep small parts and package
materials away from children.

Adult assembly required. Keep children away during the instal -
lation.

Children should not use it without parents' supervision.

You could use "corner guard” to protect children from getting
hurt by the edges.

If any parts were missing, broken or wrong delivered, contact
us immediately via email we are here to help you.



02

To better adapt to your home layout and environment, we pro-
vide 2 installation methods for you to choose from. There may
be extra screw holes after installation, please do not worry.

INSTALLATION METHOD 1 //4

Note: Installation method 1 is on the 6 to 14 page.

Vo)

INSTALLATION METHOD 2 //4

Note: Installation method 2 is on the 15 to 22 page.




03

‘;ts‘ a @ a € a1
<=
(4 a O a @ x4

@ <0, -0
== || —

@ /, x1 m , x1 @ x1

LU




04

Parts e

@ x1 @ x1 @ x1

Hardware e

Q x11+1 @ x11+1 G x11+1
e @Q
( \

M6 X 50 mm M6 X 40 mm M6 X 25 mm
@ x14+1 G x19+1 G X2
@
g g

M6 X 20 mm M6 X 10 mm M3.5 X 12 mm



05

Hardware e

(G, e @ @
@y

M8 @6 X 50 mm

x1

c O
>

¢®12 mm

Note: Extra parts will be presented as spare use.
4 )

F 2

( PROVIDED )/ \_ )




06

INSTALLATION METHOD 1

[2)
?9 (3}
(6)

%
Oy _— ~~_06 I
'

2 ﬁ\lo\\a/f

A1 T




07

INSTALLATION STEPS //4

Step?2 e

tep 4.

Ins

tep 2, or later i

Ins

tall part | on Bar 12 i

INS

- You can

Note

@ L =)

:

g BPC

)

Step3 e

(E ) "'«@ 4PCS




08

Stepd e

/ Note: You can install part | on Bar 11
< . in step 4, or earlier in step 2.

RS
~

Q

Wy 4PCS

\

O Qpzres

Stepb e

Note: When installing Pipe 15, pay attention to the distance between holes and
both ends of the pipe.




09

Stepb e

@ =—4rcs

Step/ e

Note: When installing Board 1, pay attention to the short side of the wooden
dowel hole is on the right side.

(D) 14PCS



10

Step8 e

Step9 e

Note: When using
Screw A and C,
please distinguish
between the two as
shown, to avoid
using wrong
SCrews.

@ .
() 8PCS




11

Step10 e

Note: When using Screw A and C, please distinguish between the two as
shown, to avoid using wrong screws.

(A) 5PCS
() 3PCS



12

StepT11 e

Stepl1?2 e

Note: First let's divide 1 set of Kinto K-1, K-2 and K-3.




13

Stepl13 e

Note: Connect K-1 and K-3.
Make sure the arrows are in the same position !

StepT14 e«

Note: Finally, plug K in the power supply, K can be adjusted by K-2.




14

/4

INSTALLATION STEPS

Step15 e




15

INSTALLATION METHOD 2




16

INSTALLATION STEPS //4

Step?2 e

tep 5.

Ins

tep 2, or later i

Ins

tall part | on Bar 12 i

INS

- You can

Note

@ L =)

:

g BPC

)

Step3 e

(E ) "'«@ 4PCS




17

Stepsd e«

Note: When installing Pipe 15,
pay attention to the distance
between holes and both ends of

@ the pipe.
Lot

o e "'lr,,,rr,,"e 1PC
© 3PCS

Stepb e

Note: You can install part | on Bar 11
in step 5, or earlier in step 2.

.

@ \

o/
®

@
=k
¢

(B 4PCS
G 2PCS =




18

Stepb e

Note: When installing Board 1,

pay attention to the short side @

of the wooden dowel hole is on ' % @

the right side. @ T ﬂ] - %

Step7 e




19

INSTALLATION STEPS //4

Step8 e

Note: When using Screw

please distin-

ish between the two
>>as shown, to avoid

Aand C

using wrong

SCrews.

Note: When using Screw A and
C, please distinguish between

the two as shown, to avoid using

Wrong screws.

iy SPCS

©

iy 3PCS

©




20

Step10 o

Stepl11 e
Note: First let's divide 1 set of Kinto K-1, K-2 and K-3.




21

Stepl12 e

Note: Connect K-1 and K-3.
Make sure the arrows are in the same position !

Stepl13 e
Note: Finally, plug K in the power supply, K can be adjusted by K-2.

SN

J




22

/4

INSTALLATION STEPS

StepT14 e«




23

REMOTE CONTROL INSTRUCTION //4

Turn On/Standby

Dynamic Mode/
Speed adjust

2,

©

Static Color/
Brightness adjust

0

\ % RF Wireless /

Specification
Dynamic mode 22 modes
Static Color 20 colors
PWM Grade 256 levels
Brightness Grade 5 levels
Speed Grade 10 levels
Demo mode Yes
Direct Color Select Yes
Output Color Switchable Yes, 6 options
Working Voltage DC 5~24V
Output Current 3x4A peak, 3x2A constant
Remote frequency 433.92MHz

Direct Color Select



